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18.  Suppose that a clecrease in the price of X results in less of good Y sold. This would mean that X

and Y are
(A) complememary goods. (B) substitute goods.
(C) normal goocs. (D) unrelated goodé.

19 If the demand fcr good X is inelastic, then a decrease in the price of X will cause
(A) an increase in total revenue. (B) a decrease in total revenue.
(C) no change ir total revenue. (D) none of the above is correct.

20.  Supply tends to be
(A) less price elstic in the long run. (B) more price elastic in the long run.

(C) perfectly price inelastic in the long run. (D) none of the above is correct.
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